
 S3 National 5 Revision – November Test 1 35 

1 
Simplify     

√50

√2 
 

 

 
2 

2 Simplify    √3 × √12 
 

 
2 

3 Simplify  2𝑎4 × 5𝑎11 2 
 

4 Simplify  (𝑏3)4 1 
 

5 
Simplify  

𝑟7𝑠2

𝑟2𝑠6  give your answer with positive indices 

 

 
2 

6 Calculate    (8 × 105) + (1.2 × 104).  
 
Give your answer in scientific notation  

 
 
2 
 

7 A virus has a diameter of approximately 8 × 10−5𝑚𝑚. 
How many of these viruses would fit across the head of a pin which 
is 1𝑚𝑚 wide.   
 

 
 
3 

8 For the right-angled triangle shown, 
calculate the size of side CB  
 
 
 
 
 
 
 

 
 
 
 
 
 
3 

9 For the right-angled triangle shown, 
calculate the size of side 𝑥  
 
 
 
 
 
 
 

 
 
 
 
 
 
 
3 

32° 

11 cm A B 

C 

44° 

16 cm 

𝑥 



10  
 
 
 
 
 
 
 
For the right-angled triangle shown above calculate the size of 
angle a.     
 

 
 
 
 
 
 
 
 
 
3 
 

11 Expand the brackets and simplify    
5(2𝑐 + 4) + 3(𝑐 − 6) 

 
3 
 

12 Expand the brackets and simplify    
 

(𝑥 + 6)(𝑥 − 2) 

 
 
2 
 

13 Expand the brackets and simplify    
 

(2𝑥 − 1)(𝑥 + 5) + 3𝑥 

 
 
3 
 

14  

 

 
 
 
 
3 

 

 

 

 

 

 

 

The diagram shows a sector of a 

circle with a radius of 25 cm and 

a centre angle of 280°  

Find the area of this sector 

9 cm 

5 cm 

𝑎° 



 

 Answers to November Test 1 35 

1 
     

√50

√2 
= √

50

2
= √25 = 5    or  

√50

√2 
=

√25√2

√2
=

5√2

√2
= 𝟓     

 

 
2 

2   √3 × √12 = √36 = 𝟔     

or  √3 × √4√3 = √3 × 2√3 = 2 × 3 = 𝟔     
 

 
2 

3 2𝑎4 × 5𝑎11 = 10𝑎4+11 = 𝟏𝟎𝒂𝟏𝟓 2 
 

4 (𝑏3)4 = 𝑏3×4 = 𝑏12    or   𝑏3 × 𝑏3 × 𝑏3 × 𝑏3 = 𝒃𝟏𝟐 1 
 

5 
 

𝑟7𝑠2

𝑟2𝑠6 = 𝑟7−2𝑠2−6 = 𝑟5𝑠−4 =
𝒓𝟓

𝒔𝟒   
 
2 

6 (8 × 105) + (1.2 × 104) = 812000 =  𝟖. 𝟏𝟐 × 𝟏𝟎𝟓 2 
 

7 1 ÷ (8 × 10−5) = 12500 = 𝟏. 𝟐𝟓 × 𝟏𝟎𝟒 3 

8 Using   tan 𝑥 =
𝑂

𝐴
,      tan 32 =

𝐶𝐵

11
 ,    𝐶𝐵 = 11 × tan 32 = 𝟔. 𝟖𝟕 𝒄𝒎 

 

3 

9 Using   sin 𝑥 =
𝑂

𝐻
,     sin 44 =

𝑥

16
 ,    𝑥 = 16 × sin 44 = 𝟏𝟏. 𝟏𝟏 𝒄𝒎 

 

3 

10 Using   cos 𝑥 =
𝐴

𝐻
,    cos 𝑥 =

5

9
 ,    𝑥 = cos−1 (

5

9
) = 𝟓𝟔°  

 

3 

11 5(2𝑐 + 4) + 3(𝑐 − 6) = 10𝑐 + 20 + 3𝑐 − 18 = 𝟏𝟑𝒄 + 𝟐  
3 
 

12 (𝑥 + 6)(𝑥 − 2) = 𝑥2 − 2𝑥 + 6𝑥 − 12 = 𝒙𝟐 + 𝟒𝒙 − 𝟏𝟐 2 
 

13 (2𝑥 − 1)(𝑥 + 5) + 3𝑥 
= 2𝑥2 + 10𝑥 − 𝑥 − 5 + 3𝑥 

= 𝟐𝒙𝟐 + 𝟏𝟐𝒙 − 𝟓 

 
3 
 

14 
𝐴𝑟𝑒𝑎 =

280

360
× 𝝅 × 252 = 1527.163 = 𝟏𝟓𝟐𝟕 𝒄𝒎𝟐 

 

𝐴𝑟𝑒𝑎 =
280

360
× 𝟑. 𝟏𝟒 × 252 = 1526.3888. . = 𝟏𝟓𝟐𝟔 𝒄𝒎𝟐 

 

 
 
 
3 

 


